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O F&T ALy doistirg 6,938,000

-7 6,469,000,0008 = 6,469,000

- 469,000,000 = 469,000
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. =
B 1 (200) AHEHAIZ & 1 (230) RUAMFIES
ME : (234) PES = © (401) AlAIB|Y = (91 : 22l
oM opwey | SN | B2

el AMINY 390,858 80,000 310,858
200 A2A2|E 390,858 80,000 310,858
230 SEAAES 390,858 80,000 310,858
234 =& 390,858 60,000 330,858
401 A|MH|Z2CHY| 390,858 60,000 330,858
01 AlAdH| 390,858 60,000 330,858

O 552 A+ 42 1,500,000 %2074 = 30,000

O 552 0|E-H 43 1,500,000 %2074 = 30,000

O #Hd d AldE FHISA 66,962,000¢ = 66,962

O CA| AldE ZHISA 206,709,000¥ = 206,709

O oA A|AE AH|ZA} 57,187,000¥ = 57,187

_56_




2|5

=4 g 1 (230) AR
Mgt @ (234) 2= = - (401) AlZH[Z O] ool - dE)
.5 M T2 Of| Aot U= 22t

SOHELEELNL (HL2|F-01F) 331,618 0 331,618
200 A=2H2|E 331,618 0 331,618
230 RIS 331,618 0 331,618
234 752 331,618 0 331,618
401 A|2H|LRCHY| 331,618 0 331,618
01 AldH| 331,618 0 331,618

O G427 SO 2YSE+ WL (EEY) 331,618,0009d = 331,618
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AU : AlA TR R4
B (200) A=A 8 1 (230) QERMRS
M8 (234) P22 2 : (401) AlSH| =Y Chol : :2l)
ol At Zﬁoﬁ 22
1,429,000 0 1,429,000
200 ZEAR & 1,429,000 0 1,429,000
230 [UZZRES 1,429,000 0 1,429,000
234 F== 1,429,000 0 1,429,000
401 A|AH|Z L0y 1,429,000 0 1,429,000
01 A|AH| 1,423,874 0 1,423,874
O MEHEX A AIDARI( 423,874
- 994,874,000¥ = 994,874
-5 128,700,0004 = 128,700
-t 300,300,000¥ = 300,300
03 AlEECiy]| 5,126 5,126
O MEHEX LR A|DAR( 5,126
-t 1,423,874,000%%0.36% = 5,126
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MY EMAY AN

[l

2 : (200) A=A 3 © (230) REAAES
N3 (234) 722 2 . (401) AlAH LR ChY Chol 21l
Bog-oMY = oparey | FEE | 2
- A oy | B

MRS Ao 1,242,000 0 1,242,000
200 22AZ|& 1,242,000 0 1,242,000
230 FRHtRS 1,242,000 0 1,242,000
234 F== 1,242,000 0 1,242,000
401 A|dH|ZECHH| 1,242,000 0 1,242,000
01 Al&H| 1,233,585 0 1,233,585

O QIOHE EXMZ|H Al Kt 519,725

- 362,725,000¥ = 362,725

- 31,400,000% = 31,400

- 125,600,000¥ = 125,600

O HHEE S MR A0 400,119

- 279,119,000¥ = 279,119

-E 24,200,000¢ = 24,200

- 96,800,000% = 96,800

O HAMOEE &= MA|SH AlLQTHE 313,741

- 218,741,000¥ = 218,741

-E 19,000,000& = 19,000

- 76,000,000¥ = 76,000
03 AlE&ChY| 8,415 0 8,415

O QIOHE T AZ|H Al 1t 3,275

- 519,725,000¥%0.63% = 3,275

O oS4 EMAY Al 2,881

- 400,119,000¥x0.72% = 2,881

O CHMBHE MR A2 et 2,259

- 313,741,0008%0.72% = 2,259
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B (200) AHEEAZ B (260) H7ISABIRHIZIS

MEt : (261) ZgZOIM S © (403) RSSO ciol : 29l
B8 MY S opwey | SN | B2

Q0L A5t FA| D2 ALY 987,000 0 987,000
200 A2H2|=E 987,000 0 987,000
260 BI7tsEHAHES 987,000 0 987,000
261 UESARMLE 987,000 0 987,000
403 AR A SAH20|H 987,000 0 987,000
02 =7[HS0| Chet CHUAFH] 987,000 0 987,000

O QO 2[5te 2 FA| D2IAFY

987,000,000& =

987,000
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AMEE YAl wAEE

B (200) AHEHAIE B 1 (230) REAAAS
Mg @ (238) 7|EFR AL = ! (405) AHit2|SH|S (2 - 23)
Bo-oMY 2 opwey | SN | B2

AeAE Q|22 1,000 12,500 A11,500
200 22H2|Z 1,000 12,500 A11,500
230 SBAALZE 1,000 12,500 11,500
238 7|EFSBIRFAF 1,000 12,500 ~11,500
405 AAFZEHS 1,000 12,500 211,500
01 AR 1,000 12,500  A11,500

O 371887 +¢ 1,000,000¥x 14! = 1,000
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